District School Board of Pasco County Bid Recommendation

| Bid Title | Grounds Maintenance – SPES & JMES – Maintenance | Number of Vendors Notified | 168 |
|----------------------------|---|--|-------------------------|
| Bid Number | 09-042-GF | Number of Bids Distributed | 10 |
| Date Solicited | July 30, 2008 | Number of Vendors Bidding | 7 |
| Date Opened | August 27, 2008 | Number of Formal "No Bid" Responses | 3s |
| Date Board Presentation | September 16, 2008 | Funding Source | General |
| Total Savings | \$8,615.56 | Grand Total of Bid | \$30,770.00 Estimate |

<u>Recommendation</u>: Recommend acceptance of bids as noted on attached bid tabulation sheet as lowest and best responsive, responsible bid from AB5 for Sand Pine Elementary and A-Team Lawn Service for James Marlowe Elementary meeting written specifications.

<u>Term of Contract</u>: This bid is for grounds maintenance at Sand Pine and James Marlowe Elementary Schools. Grand total is an estimate only, unit prices will prevail. This is the first year of a three-year bid renewable annually by mutual consent of both parties. The first year contract period is October 15, 2008 through October 14, 2009.

<u>Notations and Exceptions</u>: Savings determined by averaging all non-awarded vendor prices and subtracting from recommended vendor's pricing.

Offers from the vendors listed herein are the only offers received timely as of the specified opening date and time. All other offers submitted in response to this solicitation, if any, are hereby rejected as late.

Bids Evaluated By: Edward Flicker, Custodial Coordinator

Bids Prepared By: Gail Fowler, CPPB, Buyer

Reviewed and Authorized By: Kendra D. Goodman, CPPB, Purchasing Agent

DATE/TIME: September 10, 2008; 09:23:00

DISTRICT SCHOOL BOARD OF PASCO COUNTY BID TABULATION

| DATE OF OPENING: AUGUST 28, 2008 2:30 PM | | A-Team Lawn | A-Team Lawn Service | | AB5 | | Blades of Green | |
|--|--|---------------|----------------------|------------|---------------------------|------------|------------------------|--|
| BID TITLE: GROUNDS MAINTENANCE - SPES & JMES | | | 8610 Jolly Roger Dr. | | 8801 Hunters Lake Dr #236 | | 6518 Thoroughbred Loop | |
| BID#: 09-042-GF | | Hudson, FL 34 | Hudson, FL 34667 | | Tampa, FL 33647 | | Odessa, FL 33556 | |
| ITEM# | DESCRIPTION | UNIT PRICE | TOTAL PRICE | UNIT PRICE | TOTAL PRICE | UNIT PRICE | TOTAL PRICE | |
| | PROJECT A | | | | | | | |
| | SAND PINE ELEMENTARY | | | | | | | |
| | Mowing, Weeding & String Trimming (38) | 150.00 | 5,700.00 | 350.00 | 13,300.00 | 300.00 | 11,400.00 | |
| | Edging (38) | 25.00 | 950.00 | NC | NC | 60.00 | 2,280.00 | |
| | Hedge Trimming (annual basis) (1) | 7,500.00 | 7,500.00 | NC | NC | 600.00 | 600.00 | |
| | Pruning (Palms) (2) | 400.00 | 800.00 | NC | NC | 200.00 | 400.00 | |
| | Pruning (non-Palms) (1) | 400.00 | 400.00 | NC | NC | 300.00 | 300.00 | |
| | Mulching (2) | 1,000.00 | 2,000.00 | NC | NC | 300.00 | 600.00 | |
| | GRAND TOTAL | | 17,350.00 | | 13,300.00 | | 15,580.00 | |
| | ADDITIONAL MULCH: PER CUBIC YARD PRICE: | | 60.00 | | 50.00 | | 45.00 | |
| | COST FOR 10' x 10' BEDDING AREA: | | 100.00 | | 50.00 | | 60.00 | |
| | PROJECT B | | | | | | | |
| | JAMES MARLOWE ELEMENTARY | | | | | | | |
| | Mowing, Weeding & String Trimming (38) | 100.00 | 3,800.00 | 500.00 | 19,000.00 | 325.00 | 12,350.00 | |
| | Edging (38) | NC | NC | NC | NC | 60.00 | 2,280.00 | |
| | Hedge Trimming (annual basis) (1) | 9,420.00 | 9,420.00 | NC | NC | 700.00 | 700.00 | |
| | Pruning (Palms) (2) | 300.00 | 600.00 | | NC | 200.00 | 400.00 | |
| | Pruning (non-Palms) (1) | 100.00 | 100.00 | | NC | 250.00 | 250.00 | |
| | Mulching (2) | 875.00 | 1,750.00 | NC | NC | 300.00 | 600.00 | |
| | Pine tree forest on West end of property | 150.00 | 1,800.00 | NC | NC | 100.00 | 1,200.00 | |
| | maintained to the road. Maximum per year. (12) | | | | | | | |
| | GRAND TOTAL | | 17,470.00 | | 19,000.00 | | 17,780.00 | |
| | ADDITIONAL MULCH: PER CUBIC YARD PRICE: | | 60.00 | | 50.00 | | 45.00 | |
| | COST FOR 10' x 10' BEDDING AREA: | | 100.00 | | 50.00 | | 60.00 | |

DISTRICT SCHOOL BOARD OF PASCO COUNTY BID TABULATION

| DATE OF OPENING: AUGUST 28, 2008 2:30 PM | | Central Florida Landscaping | | Jazz It Up Designs | | NDL, LLC | |
|--|--|-----------------------------|-----------------|--------------------|----------------|------------|-------------|
| BID TITLE: GROUNDS MAINTENANCE - SPES & JMES | | | 6109 Orient Rd. | | P.O. Box 716 | | |
| BID #: 09-042-GF | | Tampa, FL 336 | Tampa, FL 33610 | | Lutz, FL 33548 | | |
| | | | | | | | |
| ITEM# | DESCRIPTION | UNIT PRICE | TOTAL PRICE | UNIT PRICE | TOTAL PRICE | UNIT PRICE | TOTAL PRICE |
| | PROJECT A | | | | | | |
| | | | | | | | |
| | SAND PINE ELEMENTARY | | | | | | |
| | Mowing, Weeding & String Trimming (38) | 323.00 | 12,274.00 | 449.00 | 17,062.00 | 400.00 | 15,200.00 |
| | Edging (38) | 64.50 | | | NC | 100.00 | 3,800.00 |
| | Hedge Trimming (annual basis) (1) | 3,924.00 | | | NC NC | 100.00 | 100.00 |
| | Pruning (Palms) (2) | 429.00 | | | NC NC | 500.00 | 1,000.00 |
| | Pruning (non-Palms) (1) | NC | NC | NC | NC | NC | NC |
| | Mulching (2) | 630.00 | | | NC NC | 750.00 | 1,500.00 |
| | muching (2) | 030.00 | 1,200.00 | 110 | 110 | 730.00 | 1,500.00 |
| | GRAND TOTAL | | 20,767.00 | | 17,062.00 | | 21,600.00 |
| | | | , | | , | | , |
| | ADDITIONAL MULCH: PER CUBIC YARD PRICE: | | 42.00 | | 25.00 | | 45.00 |
| | COST FOR 10' x 10' BEDDING AREA: | | 50.00 | | 25.00 | | 75.00 |
| | | | | | | | |
| | PROJECT B | | | | | | |
| | | | | | | | |
| | JAMES MARLOWE ELEMENTARY | | | NB | NB | NB | NB |
| | | | | | | | |
| | Mowing, Weeding & String Trimming (38) | 272.00 | 10,336.00 | | | | |
| | Edging (38) | 78.00 | | | | | |
| | Hedge Trimming (annual basis) (1) | 4,428.00 | 4,428.00 | | | | |
| | Pruning (Palms) (2) | 182.00 | 364.00 | | | | |
| | Pruning (non-Palms) (1) | NC | NC | | | | |
| | Mulching (2) | 672.00 | | | | | |
| | Pine tree forest on West end of property | 180.00 | 2,160.00 | | | | |
| | maintained to the road. Maximum per year. (12) | | | | | | |
| | | | | | | | |
| | GRAND TOTAL | | 21,596.00 | | | | |
| | ADDITIONAL MULCH: PER CUBIC YARD PRICE: | | 42.00 | | | | |
| | ADDITIONAL MULCII, I ER CUDIC TARD FRICE. | | 42.00 | | | | |
| | COST FOR 10' x 10' BEDDING AREA: | | 50.00 | | | | |
| | | | | | | | |
| | | | | | | | |

DISTRICT SCHOOL BOARD OF PASCO COUNTY BID TABULATION

| DATE OF OPENING: AUGUST 28, 2008 2:30 PM | | Whit-TLA | | |
|--|--|-------------------------|-------------|--|
| BID TITLE: GROUNDS MAINTENANCE - SPES & JMES | | 1500 Highwood Place | e | |
| BID #: 09-042-GF | | Wesley Chapel, FL 33543 | | |
| | | | | |
| ITEM# | DESCRIPTION | UNIT PRICE | TOTAL PRICE | |
| | PROJECT A | | | |
| | SAND PINE ELEMENTARY | | | |
| | Mowing, Weeding & String Trimming (38) | 443.27 | 16,844.26 | |
| | Edging (38) | 166.00 | 6,308.00 | |
| | Hedge Trimming (annual basis) (1) | 100.00 | 100.00 | |
| | Pruning (Palms) (2) | 250.00 | 500.00 | |
| | Pruning (non-Palms) (1) | 100.00 | 100.00 | |
| | Mulching (2) | 1,675.00 | 3,350.00 | |
| | GRAND TOTAL | | 27,202.26 | |
| | ADDITIONAL MULCH: PER CUBIC YARD PRICE: | | 25.00 | |
| | COST FOR 10' x 10' BEDDING AREA: | | 25.00 | |
| | PROJECT B | | | |
| | JAMES MARLOWE ELEMENTARY | NB | NB | |
| | Mowing, Weeding & String Trimming (38) | | | |
| | Edging (38) | | | |
| | Hedge Trimming (annual basis) (1) | | | |
| | Pruning (Palms) (2) | | | |
| | Pruning (non-Palms) (1) | | | |
| | Mulching (2) | | | |
| | Pine tree forest on West end of property | | | |
| | maintained to the road. Maximum per year. (12) | | | |
| | GRAND TOTAL | | | |
| | ADDITIONAL MULCH: PER CUBIC YARD PRICE: | | | |
| | COST FOR 10' x 10' BEDDING AREA: | | | |
| | | | | |